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IT V: THE MOLE CONCEPT

avier than hydrogen {which has a mass of 1), oxygen has a mass of
nitrogen has a mass of 0876 x8=7.
carbon has a mass of 0.751 x8= 6.

nitrogen, the reaction involves 3 times as
the formula is NCls . The name of the

the product contains twice as many oxygen
sulphur dioxide.

o that the formula contains three times as

as X, there aré flve times as many

ic)

)

o

(o)

0 molecules.

1N=1x14.o =14.09
gH=3x 1.0 = 309

molar mass = 17.09

1 Ag=1x 1078 =10729
{ N=1x 140 = 1400
30 =3 16,0 = 48089

roarmass =169.98

{Fe=1x558 = 55849
acl _ax355 =10650

=16239

molar mass

4209
12049
31.09
8409

=14909g

58.79
16049
3209
56.09
7109

1Ni= 1x58.7 =
16H =16x 1.0=
20 =2x180 =
AN = 4x140=
2Cl = 2x355 =

molar mass  =233.79




Mabden : Chormaly 11

)
B 300« AxBAO=17670 (b) 1Pbe 1X207.2.207.2¢9
SAsw BXxTMD«VIRAG A Cwdx 120w 4.0
1O = 16 x 16,0 » 25660 p 12 He12x 10= 1209
WM w168x 10 = 1000 70w 7Tx 180=1120¢
molar mans « 50880 molar mass «370.2¢
© TMgs 1x249« 243g () 1 Ks 1x30.7= 3019
1 Se 1x321 = 29 1Al 1x270= 270¢g
11 0w ttix160=1760¢g 28w 2x321= 6429
4 Hetdx 10 1409 20 O=20x 16,0 =320.0 ¢
24 H=24x 1.0 = 24.0¢
mOIAr Mass =2464 ¢
molar mess =4743¢g
53.5 30.0 g
& (@) mass = 1.00molx S8 = 5359 (0 mass =260 molx =28 . 790
(b)muss-dsomolx%ﬂsulo (g) muaas.zsxwzmolx'l'o_._su“':
(c) mass = 3.25 mol X '37":0'9 “a47g (h) mags = 7,90 x 107 mol x _s..,m,,
(a)m.o.oosssmouxli%’a!-o.mg (i mm-1.00x10'°molx4TM-L°.=om, A
(e) mass =0.0125 molx 22> 9 _259¢9 (l]mass=1.75x10'4|mlxm9-017u1l'°’
1 mol 1 mol
9. @) lolmus-n.OQx;—E"-l—‘o;-o.lnmI
1 mol
(b) #ofmoles =01.5gx 180 g = 5,08 mol
1 mol
{c) & of moles =53.0gx 209 = 4,42 mol
(@) #of moles = 1.25x 10~ g x 95.“““ =1.31 x 107 mol
1 mol
o), F ol maies = 4.50 Ky L8
(e) moles = q % H‘g“i&ﬁg =281 mol
1 mot
# of moles
(n as = 2259 x m“-nomol
® .__9. -
(@) # of moles = 55.2 mg x T8 71.0 =777 x 107" mol
1 mol
h) #of moles = 128.2 g% —m.
(h) = gx“.‘qnz.oolnol
¥ol __i 4
(i} # of moles = 2955 kg x T 107. 5o = 2.739 x 10" mol
() #of moles = 0.0845 g x LMol 5,35 x 10 mol

168.0 g




i |

L.ITV:M -
403 _ 160 gmol mmu-ssg_y_ﬁ_'i’i-
,""ﬁﬁ o e
F 0947 8 7438
‘/anﬂ mm“= g o
'J# gm‘atd 348 x 0° =o lﬂx"ﬂ
248 1L
23L _a40x10°L * usL_
t"ﬂzsnd! 1 mol ; R s

"=muuxmumu -888L

‘,,,,p,sssLn mol /2271 =3T8mol
= 1w03L 1md
= 0.0165 mol

gp ey, 3 —

moles s 375 ML
wtd im 27l
L 1mol s
=220x 10 mol

P
x

gtd-ﬂﬁsmﬂl =

4 ummnﬂa:axmxm-msnw’s
-nan-n'au':usno’ sx s—:i':— —s315x10"
X g =51.3‘8\0."

B ——

st gven 10 2ach
25 x W0°

mw:w;m&:w‘
$1.34 x 10"
“r __t_d ‘1A;Qo.':=‘.13!'oﬂ

1'm ”_-‘_———'IT“I”-

.

1over

Sickness = 6.02 x 107 pennIeS X ——m Tg7 pennies 1 yer
= m'dmg‘u‘_!_‘i - .457 mol
27 L
1 mol moleCHRS < 0.0125 mol

&) #cf moles
10° ymo _g74x10 mol
) oa.m-s,as-sx-;‘.;;““uao’ =
% 4 mo moeaies _ _7.08x 10 mol
) + i moles =4.25%19 moece X Zog 107 moecuies
10 8 1md 238 mol
= £ ol moles =0950%8 % "1 59 *w09
it _!.f-‘;zi.l’:ﬁ"“

ssomiiimL  248L
1 mol moee
w:io’-‘“"mzw"w

1o 3 mol
s =012t 27 L peary

M #oimoes™

() # of moles =

o ¢

i, .




——_-—_'——_

2L gL (6 v 286 2 10° mok 5 7

— L g 73 tvd A

16, (#) votume = 0,236 AT gy ’ ' et " nry
227 L & 1

- -2’2" L
) vohome = 0.06 MO X =l
MO 4 .eomg © s = B84 1 10 mosx 210 4
- ] ’Wf ..m'

17, (#)

8, ) 2Nes2r230% “09
: 4B = Ax108 = 4329

170 172160 « 2712046
20H =20% 10 = 2009
rvAar rESE w38129

-omuo”xseno-z,un‘“u

(17} m-odimidgrm
(7> musw-m:w’”gxaMxi&'-uz&
mmdmddm:&ﬁxw”zo.uw g=55%x19"g

() 3“:3!“,5-!”‘50
80 =82 1601208
2H =2x D= 206
2C =2x120= 2408

moks mass = 24459
" -mdfmam-mzw”nau-sﬂgu”u
19. -nadiaaolm:mno”xi.ns W”g-‘nng

ki mansss O KOwn GESES: 80 =809
CHs =160 4
Wy =710¢g (s i B8 T

CHun2808
&) # of Grumaicus = 2 m0h 602 x 157 crickens 2 CumsSOS _ , 4 prrp——
f - 1 md cHickens * T3 chucen 5

®) ”mmZMOZWOZ*s‘W

st = e ————————— _—g
s 2 x x  chich - .ﬂs“"pﬁ

n@me @6 ©W B15 M8 02
2. (g) mass =25 10" motecses 1 mot 208 o510
'm?w’su'” .

P meees 12502 imd 1709
Z7L imd =050

) masssS “" 1 mch 7o
* “lm’ﬁ “_J‘l“ .23“’

ﬂu-i“:m’%ﬂ '%‘m"a.




/,L."!";-v-—'x%=uxu‘”.
‘,,ﬁlwno”m 1
mo 10729 179x107g

4
,umﬂ’mx1o”m 1 mol
' ﬁwx/—‘--"g‘_’ll&)—g‘=1."ﬂf’g
Lassx 0 802 x 107 molecules 1 mol
g 1ot xl‘.:?.g_-c.l)‘lxﬂ'”g
mol

M
..’s'”“"mno”m 1
0L 1 mol 320 g 3
—— _._-—-‘.“‘
Xl x10° ¢

.—-‘x
Ll T

Q0x10°LX 1mol 209 _ggxt0'g

g ! 27 L
,.cdm-lmwxm“f’w"w 11—3-——- “"‘,a.;uuo"m
§.02 x 102 molecules 3 SOMS_ _ 4 5y 10° atoms
ucdm-i.ﬁmlx__.__————-—-—"‘w ::—---—--—'1 o 45x
HONMUWwa—;M.&ﬂxIOnm
558 g 1 mal
| nmm.1s,ou.‘__".."i'.,m“°”"““‘.;uxu”mn
i 248 L 1 mol
4 atloms o** atoms
© fot 8.02 x 107 molecules =85x1
m"""""u.og’/im Tmolecule
’10”“1”“'1’3_—-——"

e 1 mol

0 #of aloms e
= 55.0 mL x AP *22.7L

—4.38 x 10°" atoms
mol M g6 x 107 atoms
" 1 mol
2 akoms_ _ 4.0x 107 stoms

ﬁ#dm 1
=4009% 3379

M*"‘“
(h) # ot atoms = 5.09 % l_g"”'-—'u 1 mal T molecu®
8809 molecules y > womS_ _ 7 45 x 10" atoms

@ #ofatoms =830 1
_soex10 2T ;‘ggjfl-‘———'”"" <47 10" atoms
1Mo x 1 mol

-0 —
a* 83‘
k) lolmmlvﬁ-“'o e g;gpg_t'r;—f—'m_-,_‘_.——“"“.‘;“.”m
5 _cmd % T mal 1 mokcule
o g otmame =981 E8AGE
227 L - 48tk

1!1"" X
%, (.)mnvoﬁﬂ"'ﬁfi 3 el

T S




Hetoen : Chamsry 1

P

B

BB

2

N

1ol 27T L

502 x 10> mokcdes 1om | 2UL

1¢M‘a—7L

&£E0g 1o

) M:Sﬁl’ﬂnm!

fc) voierme =0.750gx =0355L
% ol anL

mm.-&b‘xw"-‘xman e

=3411L

T moi le
602 x 10° moecles 1 ook

1 27 L >
) “=mno"m; - x =263xW L

602 x 10 atoms 1 mol

10*‘9 1 mol mL 3
= x =497Tx10 L
| Bemandined i e
I0g 1mil 271
1kg mO 1 maoi
density of COZig) = 440g/248L=1TTOL

1mol 602 x 107 moiecdes 2 N-atoms _
#olNawoms=300gx o= x S AR 452 x 10 soms
158g 1mol ‘mxw”mns"sllf“
wo’L 15403 Tml

(e} M:&Slﬂf‘m: =0328 L

M) voume=325kx =246x10°L

folmolecles=2500Lx

dersty = :-‘:—: —121591 , and massot1moi=1215 Sx2271 =278

densey =300g/227L=1329L
1 molecule - 1 mol mﬂ _,_,."
6 C-astoms mno”m Tmo | 0BT 0

une-a.soxio"c-“x

genstye 0248 _ 150601 , and massof1mol=1296 I x248L=3219

02500 L 4 anE P
Shane molecules have at least one Si and one H atom. The molar mess of SIS 28.1 98050 oy
mm.&udntgmsunmbnzmds"
fhere is exactly 1 Si per molecule and 32.1 — 28.1 = 4.0 H atoms. The formula must 8¢

5 1 moi 828 1M _so2m
"’"""‘"’""zzm"m,,on 1“’ 1269

molar mass =60.19; volume of 1 mol =60.1gx

‘u.md-
264 g
0.02780 mol 1970 g

0253 x 'Lx 3 1.’31:1.‘

(a) 80 ) 290

(a) # of molecules = 0.0500 L x L™, 802 x 10” molecuies _ 4 33x 10"
27 L 1 mol

density =




)

UNIT V : ANSWERS

b

2n

r

mol 602 x 107 molecuies _c op 407

1 mol 6.02 x 107 molecules _, 2o 407

1
Lx — %
.,u"’““ﬂ 248 L 1 mol
x
d,,m"”"‘”“ 3420 g Tmol

1mol _ 602 x 107 molecules _ ¢ o7, 4%

- —— X
’mw,mzsgx 1240 g 1 mol

227 L

x__——‘=

1 mol

666 L

,_'“w=10.091 Mg

27 L _g00275L

1
—_— X
Hm’°-°‘5°9"12 =

1 mol

nm-asno”mx a2 X107

1 mol
x 107 stoms

E [ mess=)atomx —
6.02

1 mol

|6) mass =0.2500 L x l_"-'-"- x

248 L
Wm=zm\_xl_,"g-x
227 L

1 mol
1280 9
amol .

w:wo
1 mol

146.19 _ 1299
1 mol

=.M“
0.00247 ™0!

% (5) 2ot motes =5.00G%

L
248 L
Floms

10""“""35;;3;

3
(d) lduﬂivﬂp"w o

(e) # of moles = 455"

2L o9t

1 mol

2L _32x10°L
1 mol

x 191;.0—9- =3.21:10'a9

15__3"_&,3.6:10"!
mol

‘l"'_._—-'l.“tw"’nd

 <1.00x10" mol




. s 1"& .
mm:&ﬁlﬂﬁm: __————E’m s &
v . - PELT

i .-‘:-‘—% - E28 gt

gy vams = AL

= 3538

ey - ol -9 gt

-

& s of T 03 = BTEGH J‘ Nz ml

> * ™o
uocm“zsm:—'ilnm’;w.-

Wiy oL _
" s = S5575 v & e l”’ 9555 mi

$5075 e MEE G _
@ s | ima 225 gt

inl @78 1o
) # ot mos = THLE T * 1;11“' 2% me

-1 sl
Y M’W“’Tﬁl u—-—,—ism‘

Ty sty = ..2:.“—’— 2529t aw mss o 7 ‘cmt’”lzm’
.3 8

0 e of § ek = ESGE ,;“. =8813L

7 s
(@ # o Home = 2 Siseaies ¥ = 13 smoms
’- ’wl‘“""
542 2 15 mdmcies ™0
1ol 602 x W7 ““’,-ﬂgﬁ’

7T o

5 o = 145 1 95 S

s # oA e = 4051

6 9ot mckas = BEZHL 1 o AR ot
%2 L

u-'z:u

W55 §ma
) #of moies =275 2 95 stome x 1 mok —eusT mol
652 x 1P soms




UNIT V : ANSWERS
;

273

e

1 mol 602 x 107 rr‘\o!ecules =3.03 x 10! molecules
Lx 1 mo
es =01 LX e L
e
"

1 mol - 1951 g
aﬂ;s.o\xwzz atoms X 6.02 x 10 atoms
]

1 ‘ =9.769
mo
“mmaia&sg

"’

ey 5209/248L =210 g/L
‘.

1mol 838 g =0.0923
x 7a3s=00250 L x m?(m : ]

hmd\mul:\%lgx 2oL,

mg— =8.573 mL

(%I molzr mags = 0.838

—

g
00139 g =839 gimo)

80.0
W3 m * A mor =195 gimy
1 mal
1216 ¢ g =899 x40 mol
» '“"'"ew.\«s mol x 193&3 x A mL
1 mal

§§7~9 =373 mL

. 248

el <237 x 192
R 6.02 x 1042 "\O'legg
i 24
m S iy s 199 x10 leculeq
au-a.sou 1Mol 12804
ty Moty 227 nol

1 mal
) - e.ozxto“m x 1324
°"““‘l'56o0ma.n.zn
fny MO Maga .02 5 423



274 Hebden : Chemistry 11 .

0.0134 g

() density =
1 mol

(k) #ofmoles = 125gX

() molar mass = B9

(m#duﬂs:lssno”moleahsx

1&19’(

(n) volume = 0.0684 mol x Ta

1mal _ 6.02 x 10° molecules

(o) # of molecules =5.00 g x x

»2419g1L and massolimol=24192
- L

= 134 g/mol
mol

——

'2‘-8L=._‘.

° = 0.423 mol

1 mol

6.02 x 10° molecules

1mbL
480 g

=3.07 mol

=231mL

540 g
0.0316 mol

) densly = 2367 mL

1 mol
(@) #of moles = 100.0 mL x 189,

1 mol

n m:azngxmg

() volumeof 1 mol=2006gx

44, (a) molarmass=300g

%C= :’—%guoos-ms
wH= 09 ,100%=200%
00g
fc) molar mass=1623g
=589 L i100n=344%
“Fe 9'

= 100 % =
%=Q ‘mnxoo =656

{e) molar mess = 100.1g

n‘
“h:———!— a
00 x100% =800

_120¢g
‘c-lﬂhg
450 g
Wl g

x1%=120%

0=

x10%=480%

27 L
1 mol

1 mbL
1355 g

= =5.57 x 107 molecules

x 19019 _ 571 gmi

1 mal
imL 342049

= 0.462 mol

=0.0815L

= 1480 mL

{b) molar mass = 126.8g

‘F‘. i x!@%:“%
—__.'ng x‘@\.-m‘
‘aﬂ E I

{d) molar mass =60.09
_2400 L 100%=400"%
SOC= w.og'

“H= %%noos-w%
0= 208, 100%=533%
800g

() molar mass =400¢
2309  ypon=5"
=Na= 2009

160 9 , oo % =200
%0 =209

_‘.-"_Q.noos-”’
%H= W00 g

el



UNITV 1 ANBWERS

215

S

(h) molar Mass = 14009

.“1010
P o 270%
Ll AL
,cl'ﬁﬁo

1og y 100%-“3%
WOt U0

409 4100 % =27 %
PURRTIAY

20 0 4100 % = 210 %
00',’.7,'{'6'

aasn# \TTAQ

A
ﬂb!lnooqs-eo.ns

sM*
‘,,..,,..9 100 % = 16,8 %

60
. L
MW - 1A ol\N%nﬁA

wh 9
%“0le T4 °n\00%-ao.0%

% molar moss « 346.9 ¢
AL N
Bn 4.2 %
- m%l‘&*"

042

%8 - °:100%-\0.0%

160.0
90

409 o0 =12
0

SN -

{m) mokar mans = 1200 9

120
A0y,
1200 0

%Cw

%WH=

42.0g
12.09
W bl mMuooas-l.m
M09
L 140.0 ¥ 100 % w 208 %
wo-%"J.uoom«n%

(1)) molar mane » 4286 ¢

%0 » ”‘&.9 5 100 % = 023 %

%o = m*l X100 % » A8 %

%O i .}:&ﬂé £ 100 % = 0.7 %

365 9 100 % = 108 %
azsb 9

0) mm-ﬂ"ﬂ
280 ow100%
o = Gar """

" 2087 9

16.7 .m-s-aus

" Ciw

o Bn=

;i“ﬁ'ﬂ‘%
%0 * ﬁ'%

" mm"';”"’
17 %
wk s g 1O

'J’mﬁcﬂbﬁ
32030

?—2‘!—’- l\&%:ﬁ-’%
a9

BAD 0 L 400 %=285%
329.1 9

» Fo =

%C =

%N =

(b) BHO= %‘%%noom-mss




e L f Shm- S0
- =z m;"‘q‘.‘
- _TEdz -
sz&,:ﬂ- *_};a"\z&-

= e #wz—-l."=ﬂ‘- .
T TS s e
f-s‘” -

momy - =80T

2 e SeEEge . =Toms
=z

- - -

= T & s == s " -
Xy




\ noesNg=2180X 2‘.“:"
noesP=27.99%
moks O = 503 g x

) molksH=3660Q
moles P =378 9%
moles O = 58.4 g%

M moes C =462 0%

moles H = 7699 % m

) moles C=5059%

e
mu-we" 109

1

1 mol
30g

1 =314 mal
160 g

1 mol
R —

109

= 0.900 mol

3,66 mol

-‘——"—'°-‘--1.22mol
31049

1

s ——

160 g

= 3,65 mol

Amol _ g g5 mol
1209

‘N‘T.“"‘d

b
120 9
L mol . 526
’13,";.3.1"""
44.20% 740 9

mN-
t "":,,,o.u.oo
47, gensity=1579 or'!“"o.
mass ol otore 10 mosecular formula
e
M= 409

T

§  andempircal formula = CHsCly

2 and empirical formula = K2Cr207

mmdwh-cawh

19
and mmmmn-t.u'lgnz.n.d B

«3 % (CHa) = CaMe.




=27md | °

T o3
& m~=m"ﬂnﬁ

noesO=S25gx S ml =eEma 2

40 g
scepreEomuz=-N0; . SsToncamEss =402 Wo=eing
sormess =37 glxMNEL =520

N= 212 20 Thesirs e mowcder Brmuis =21 NOx = MOy
& g

& E=prcs mass o Cie: =T10g

-t T
““t——-—z T
2

N= =20 Thersiors fe moieclar Trmelis = 2 3 IG5 =Cagiir
3

= “ge&s::u;,g, e -uunnazt_u%awl.:mg

smorcsl Tass =T X 120 - Tx10=130¢g

20 . Thessiors e molecsiEr Toeais =2 2 1048 =G

5i. PecemEee O=100%-23% -57T%

T o 2

—re= Foi- =35

Rt T | smprcal formuia - OO arc ororcs Te= =311
T o i
- =35 o |
moies O 9.191‘.' ;
1589 _omo
o RS - S - 7o
B e S ——

=
2 moesS=30gsx 108 cit7as |t e

=73 enpircs ormuls = S 3 g
1 o 3
noiesF = 0gx ®os =353 mad

-.-=1.st:ml.-un-’g

n-Wxg ., PRUT ——— L
sig

53 mclesS=783gx ‘-‘-’ =T2xmz
DoesH=21Tgx :.g' «217mal | 3
B Tess = Qe 1 WOg=2ZTSg

Ne -g‘:—z =20 anc e moecder s = 2 x S = B



» 9 \m‘ = ——
l 0L -028Mm

) [HNO4) = 28 mal
Aol 0L -oT0m
) Ny = 20700 mol
0.0500 L

@ Nac= 2509 | 1mol
950 sesg- "' "

=1.40M

() [CoBra6H0 = 20 9 _ 4 mol_ _ 0.00765 M
0.6000 L = 326.7 @

0 (Cr(NO3)3-9H,0) = gg gsgL 210%“_02‘_9 =0.0769 M

. (@) moles NH4C\ = 3.00 E?-‘ x 1.00 L =300 mol

53.59 _1619
massNH40\=3oomo\x_ﬁ;‘-a-‘-= e
C!in less than 1.00 L of water an e to 1.

mol , 0.5000 L= 0.125 mol
3246 9 _4069

Dissolve 161 g of NHa

(6) moles Ha(NO2)2 = 0.250 7L

425 mo! ¥ 73 mol
mass Ha(NO3)2 = 0.1 o 210 1688 than 500 mL of water and dilute to 500.0 mL.
of HY!
Dissolve 40.69 mol , p.125L = 0.0625 mol

0.5 L
3)2 =
N 2613 9 _163g

(o]
\es Ba(
(c) mo _ 0.0625 MO X "ol
of water and dilute 0 125 ml.

mas® 300! @a(NO3)z in less than 125 mL







uﬂﬂ:ﬁﬁwgﬁ

3
ol qzest =X

T
e Wi,

PR

Ml.,,porﬂ"ﬁ'w

o 1640

" .Wﬂdl 1 mol SHLS

s mol i
ooT!o.,ssooL-W“" o

00
',cﬂ”’" 3 1220 9
L350 % 107 Mol X Ty “LOk

nm_onl-mo' than hall 8
~pop-can-hi), the addiion of 5%

1
xdsm

3
e aiad : >
SRR @lomjor @5® 08

_ m“ﬂ“"“‘
“qﬁm:nnﬂﬂ”“'m




3
o wwcscwmme= = s A000-2 WS- :

- r

-Wn-i.—-dzl"-
= m“-‘f-“-n.,md

e e =B e e ® = 11T

T el




283
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125.0 mL
=0.0962

i 200.0 mL
42 =0ATEMX Toeo T e
gﬂﬂllﬁﬁﬂ\]’DMZ-&OJOBgon“
(Vo OT50Mx300L _
‘ﬁw: =g =Rk

80,0 ml
¢ (a0 20880 MX o2y S

. peaCipn (#1) =0.350 Mx %%_@_. T

750 mbL
MaCllon (#2) = 0.875 M :
1 (#2) = X 2 5

(NaCl] (total) = 017 M + 1,09 M =121 M

\500 II\L
M
250.0 mL = 0.240

9. [NaCl] =0.400 M x

M. [NaPO4) = 0200 750 mb _o1s0m
4=0200MX 3600 mL

5829 , 1Ml _g268 M
0.2500 L BAO Q

e A 1.90u1o"u
(b) {ch‘oq‘z_é_s_o_oo‘. ‘9“29

2C20 ——-—9-0584 1 mol _posaoM

o 41,00 =0:100 M
L

msNac\smoomoleM - it
Digsolve 58500 NaClin jogs than 1 & dlute
mal 02600 L =0.02250 ™!

. (2) NaHCO3) =

9. (a) moles NaCl=0.10

(b)mmsomooo T
omzsomlxl%ﬁae.e'rog
e K&lnmhﬂ?ﬁﬂﬂtlﬂdmm”m.om.ﬂ

Oiaso! 8

b 015 T '°'5°°°L=°-°°25ml=mmcmowmo
NO3IZ ™ T

() mole® CatNO3 % b a e
NoswaH.O « 00625 e

- e Yo 500.0 mL.
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125 mL \
g7. (a) [UOHIow (#1) = 3.55 M x 6'0'0_':7( =0.740 M
m‘bn(czuz.uux%ﬂszm
[LIOH] (total) = 0.740 M + 1.92 M =2.66 M
200.0 mL
- oo
(o) NaC = 0.250 Mx oo = 0.143 M
(©) [KBrlpe (#1) = 120 Mx %3%:1.14.4

950.0 mL
[KBripg. (#2) =0.200 M x 3050.0 mL 0.1B1 M

[KBr] (total) = 1.14 M+ D.IBIM =132 M
50 mL
{d) [KBr]=2.50 M x m-OJ‘“

850.0 mL

() HC =0.1105 M x T - 01044 M
50.0 mL
=0, = M
() [HChHow (#1)=0.125 M x 125.0 mL 0.,0500
75.0 mL

= ——e = 0210 M
[HCilpy_ {#2) =0.350 M x 1250 miL
[HCT] (total) = 0.0500M +0.210M =0260 M

2500 ml _ 407 m
175.0 mL

98. {a) [KBr]=0.750 M x

750 mL _
(6) NaNO3]=0.125 M x =" = 0.0288 M

150.0 mL
- ety com % 12
(¢) [UBrlpe (#1) = 0.325 Mx 2750 =077

2250 mL
= e — =0A09M
[UiBripe. (#2) o.sooux,”

[LiBe] (iotal) = 0.177 M + 0.409 M = 0.586 M
99. (8) moles KBr=2.5 -"Lﬁxs.ol.ﬂz.sw
1190 g
1 mol

mass KBr = 12.5 mol x -15x10°¢g

{0} moles Mglz = 0.135 #":_;"xo.zzuomw

mass Mgl = 0.0304 mol x %ﬂgmg

{¢) moles NaCt = 0.250 %xmumu

mass NaCl = 0.0875 mol x %a‘.ﬂ‘




UNIT V& ANSWERS -

g, M 1001 M
. [,oce\-‘"‘ AT

| 2108 )
't
mol  A352 § 4721 g or 1724 gimb.

p 0+ 1278 7T F 7y ol

g 409828 T X 10899, 1041 g, or 4,04 ok

bon % Vi, 0:200 3M 5; 600 L _pm7L

g b Voowe = %
CONG

B Vooue = En:;!.l’m. 3 9-5,.'%6%9’“&999,.‘: »0,00325 1 » 3,26 ML
CONC

e * Vi 0.10°M%5mt- 5.00 M
l’\m-w. _________..--—-‘-*-‘o.‘ooo“ -

U] mm-omo'—'%:o,woouo.mm
1490 40
maas KBe w0418 MK 1 < 9

lg) moles HC! = 0.0 9 % %5‘%""""“
ke o;:; Mgr‘.._.n_.z.al-
u\,mw.w“—?'”"“”"“'
L pm-&%ﬂ"i’%'"w”
Iy M_"“T,%}-mniﬁ’waww |
..mom-w"-,?‘.%‘i"'”“"“’“‘“ |

o 0.716 % 107> mal
‘VM 2 o.w__,.,.——-—-—"‘ il 0144 L
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m m:%-m’~£-:1uusomm

‘ 1 mol
NM —m“.‘_l-——f’-..m
‘a@ waﬁl__vﬂ- OMM!:SDL'..‘“.







